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a—F R %k | B | () L G) wiE | bl e | R GHD
30100 EWVZ A 20 864 43 43 43| BH 207
Y3015 7 X UHE 4 194 22 22 11BN 123
31700 ¥ ¥y XY 90 3, 683 486 486 324 | B 94— R
31800 (T ) AILAE 31 8, 651 59 54 54 | BA 1563
31900 ¥ 14 1,588 216 108 76 | BN l4kg
36800 Hox XD 3 2,106 702 702 702 | BN 3kg
34400 | b= k 20 5,616 281 281 281 | B 20kg
34500 (B°—~ 378 216 216 162 | BHN 2kg
34520 FRE—< 972 216 216 216 | BN 5kg
35220 X MERHE 3, 256 540 540 4321 B " 6kg
35300 | E— R 12 10, 222 1,080 756 756 | BP9 12kg
35303 AF v TEIALD 1 92 108 108 54| B lkg
35400 ZHE®D 6 1,253 216 216 216 | BN kg
Y3033  ZZHAT 81 4, 347 54 54 54 | BN 8lkg
36200 EindE 20 648 32 32 32 | BN 20kg
36600 |7mERE 20 5,238 76 49 38BN 1001&
133200 MY TTT— 4 864 216 216 216 | BN 4kg
33200 HYTTU— 18 4,169 140 119 65 | BN 36{#
41806 | A 431 60, 275 648 389 216 | BN 150% > b
46108  EMEDNFEE 70 105, 019 475 432 410 | B 233,87
71010 K% 5,292 32 22 221 BN 220
71011 (A7 L —% 40, 100 32 12 12| BWN 2, 0004
71070 |7 V=7 2, 560 16 3 BN 670
71080 7 A Y & 437 36 36 16| 5HN 1574
71150 | LT 648 32 32 32| B 203K
21173 O EbY 1,458 27 16 16 | &N 704
71270 Fa—Y v 7 3, 456 389 389 162 | B 128k
53456 | 7= PR iE 2 648 324 324 324 | BN 2kg
Y5010 Db&E (&) 8 3,235 540 432 324 | BA 8kg
30300  AZ L 70 7, 560 1,080 1,080 1,080 |fEIRE T4 — A
30300 A% B K 100 1, 620 162 162 162 | R 104%
31100 H3E L 345 2,052 324 76 76 | R 234 — A
31200 LIE3E 4 864 43 43 43| RS 2048
33500 YT HFHE L 1 130 11 11 11 | f& i) 1248
33810 HHHE 8 756 24 24 11 eV & 404%
32600 #F4 32 1 1 1|EmE 304%
31700 ¥ ¢~ 70 756 108 108 108 | JEE R B T — A
31950 HAQE C 30 1,102 |- 119 108 108 | FE R 5 104 — Z
31900 & S 10 1, 447 108 65 65 | S 2038 (500g)
32800 {25 3 1,188 54 32 32 | E I 303K
34300 729 2L 20 5, 400 1,512 1,512 1,188 |KeA 44— A
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a—FK g Hik | PER (kg) &% (M) =il il FE PE (EAL)
34400 b b 2s 24 5,400 1,080 864 864 | AEA 64— A
34460 I =L E & M 7 5, 443 151 151 151 |\ ERE 368y 7

34100 %Eﬁm L 20 7,020 1,944 1,728 1,620 IR S 44— R

34500 E—= L 6 5, 832 97 97 97 | B 604
34520 R —-< A M 2 1,188 1,188 1,188 1,188 |ERE 1r—2=
34571 7Y A () 1 594 119 119 119 |8 E 51#
34572 (XTF YUK () 1 702 140 140 140 | 8% [F " 5@
36600 7mFhE AN 100 8, 100 1,620 1, 620 1, 620 | dbiEE RN
37200 L x 5 2L 8 2, 754 1,512 1,512 1,242 | F1[E 2 — R
33400 L ¥ 2 12 1,814 76 76 76 | Rl - 2418
32900 AU — 2 378 216 216 162 | 15[ 2
33600 %tV 1 194 108 22 22 | {8 ] 548
38100 AL \\/=if 10 6, 156 86 65 43 |'= gy 10073y 7
31310 A3 10 810 22 22 11 | & 5048
31500 /AR 12 2,376 43 43 32 | f& [ 6048
32500 AoiE 2 184 11 11 11| & 175
036340 B LRREHE 20 3, 456 173 173 173 | BEIRE 20kg
37560 | BRIT 1 3,510 378 378 108 | K4y 108y 7
38400 2 DEE 5 810 16 16 16 |BIRE 504
41410 LEY B R 2 216 216 216 216 |BEIR 5 1
41481 F Ry 4L 5 1,188 1,188 1,188 1,188 |EIRE 17—
Y4017 'S 50U 5 2, 765 173 173 173 | L 16%%
| 46108 | BT DONEE 3 2,236 270 173 173 | BERE 1%y 7
49100 (N FF 120 15, 444 1,620 1,512 1,512| 7 4 Y B 10—
49200 (AT T 11 1,512 216 216 216 74 UL 1A
Y5006 | FIR (E4h) 110 27, 292 2,624 2,624 2,354 | EIR B 11r—23
Y5006 | ERIR (5L 56 12, 787 163 163 150 |EIRE 80/%y 7

ait 2,091 420, 337




